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Simulated Test One

Section I Listening Comprehension

Directions:

This section is designed to test your ability to understand spoken English. You will hear a selection of
recorded materials and you must answer the questions that accompany them. There are three parts in this
section, Part A, Part B and Part C.

Remember, while you are doing the test, you should first put down your answers in your test hooklet. At
the end of the listening comprehension section, you will have 5 minutes to transfer all your answers from
your test booklet to ANSWER SHEET 1.

If you have any questions, you may raise your hand NOW as you will not be allowed to speak once the

test has started.

Now look at Part A in your test booklet.

Part A

Directions:

Listen and complete the chart with the information you have heard. You will hear the recording twice.
You now have 25 seconds to read the chart. (5 points )

Who first started to smoke?
Tobacco first grew in 1
Jean Nicot used tobacco to 2
Nicotine comes from the name of 3
Walter Raleigh started smoking in 4
Before his end Walter smoked a 5

Part B

Directions:

For questions 6—10, complete the sentences and answer the question while you listen. Use not more
. 3 .
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than 3 words for each answer. You will hear the recording twice. You now have 25 seconds to read sen-

tences and the questions below. ( 5 points )

The Open University is an

How many students graduated from the Open University in Britain

every year?
What families are most students from?

An encouraging fact is that a number of men and women have suc-
cessfully obtained degrees

Who come to offer necessary help to the students of the Open Uni-

versity?

Part C
Directions:

10]

You will hear three pieces of recorded material. Before listening to each one, you will have time to read

the questions related to it. While listening, answer each question by choosing A, B, C or D. After lis-

tening, you will have time to check your answers. You will hear each piece once only. ( 10 points)

Question 11—14 are based on the following talk. You now have 20 seconds to read questions 11—14.

11. What was likely to happen on a crowded bus in the past?
[A] A gentleman offered a seat to a lady .
[B] A gentleman pretended to read his newspaper.
[C] A lady refused to accept a gentleman’s offer.
[D] A gentleman often looked out of the window.
12. What is more important according to the passage?
[ A] Equality in jobs.
[B] Equality in education.
[ C] Equality in social attitudes.
[D] Equality in social positions.
13. What is a woman likely to do now?
[A] Wait for a man to open the door for her.
[ B] Pay her share of the bill.
. 4 .
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[C] Get angry with the man who refuses to open the door for her.

[D] Get angry with the man who refuses to pay the bill for her.
14. Which of the following should be paid more attention to?

[ A] Gestures of politeness.

[B] Weakness of the female.

[C] Changes in manners.

[D] The needs and feelings of women.
You now have 40 seconds to check your answers to questions 11—14.
Question 15—17 are based on the following talk. You now have 15 seconds to read questions 15—17.

15. How far are the stars we see in the sky?
[A] At least 45 light years away.
[B] At least 25 light years away.
[C] At least 50 light years away.
[D] At least 35 light years away.
16. What questions are scientists especially eager to know?
[A] How far away are the stars?
[B] Are there any signals sent to us from outer space?
[C] Is there life in space?
[D] How to reach other stars?
17. How do scientists carry out researches on other stars according to the passage? Mainly by use of

[ A] Spaceships and machines.
[B] Instruments and radio signals.
[ C] Radio signals and telescopes.
[D] Spaceships and telescopes.

You now have 30 seconds to check your answers to questions 15—17.
Question 18—20 are based on the following talk. You now have 15 seconds to read questions 18—20.

18. What are the man and woman mainly talking about?
[A] The woman’s experience with a home computer.
[ B] Different types of computer users.
[C] The uses of home computers.

[ D) Different computer programmes.
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19. What did the woman want the computer programme to help her to do?
[A] To do calculations .
[B] To get information from magazines.
[C] To learn French.
[D] To do Grammar practice.
20. What finally happened to the woman, according to the conversation?
[A] She got the computer programme right.
[B] She was able to speak perfect French now.
[C] She leamned the Italian verbs very well.
[D] She gave up using the computer completely .

You now have 30 seconds to check your answers to questions 18—20.
You now have 5 minutes to transfer all your answers from your test booklet to ANSWER SHEET 1.

This is the end of Listening Comprehension.

Section I1 Use of English

Directions:
Read the following text. Choose the best word(s) for each numbered blank and mark A, B, C or D on
ANSWER SHEET 1. (10 points)

Literature is a form of art that can be enjoyed without formal instruction. However, people with
__21  knowledge of literature may miss a lot 22  reading a novel, short story, poem, play, or
23 . These readers are comparable to the _ 24  at a football game who watch the game and
__25_ it without really understanding the complex movements 26 on the field. Although they may
enjoy the _ 27 _, many spectaiors watch only the ball 28 , missing the contribution of other mem-
bers __ 29 the total play as well as the intricacies occurring within the 30 . A person who under-
stands football — _ 31  better yet, has played the game-is more capable 32  judging when a team
is playing well or _ 33 _ and is also likely to enjoy a “good” game more. The _ 34 s true of reading
literature. Most people have read numerous _ 35  works, but many do not understand or _ 36  the
author’s skill in communicating. This book _ 37  intended to help you leam to 38  attention not
only on what happens, but on __39 it happens and how the author has 40 it — to analyze and e-

valuate literary works so that you can fully experience and appreciate them.

21. [A] abundant [B] informal [c] necessary [D] limited
22. [A])if [B] when [C] by [D] upon
. 6 -
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23. [A] fiction [B] poetry [C] essay [D] art

24. [A] audience [B] spectators [C] coaches [D] players

25. [A] like [B] appreciate [C] enjoy [D] evaluate

26. [ A] happened [B] taken place [C] going [ D] occurring

27. [A] game [B] scene [C] work [D] art

28. [A] somewhat [B] entirely [ C] perhaps [D] generally

29. [A] of [B] within [C] to [D] about

30. [A] offence [B] game [C] defense [D] team

31. [A] but [B] even [C] and [D] or

32. [A] of [B] to [C]in [D] for

33. [A] skillfully [B] successfully [C] poorly [D] badly

34. [A] same [B] reason [C] other [D] sport

35. [A] athletic [B] literature [C] football [D] literary

36. [A] realize [B] appreciate [C] like [D] recognize

37. [A] will be [B] has been [C]is [D] was

38. [A] pay [B] call [C] draw [D] concentrate

39. [A] why [B] where [C] how [D] when

40. [ A] narrated [B] presented [ C] maintained [D] explained
Section II Reading Comprehension

Part A

Directions:

Read the following four texts. Answer the questions below each text by choosing A, B, C or D. Mark
your answer on ANSWER SHEET 1. (40 points)

Text One

The collaboration among scientists, universities and industry is not new. Both the university admin-
istration and the industry play a role in developing the scientific knowledge in the academic environ-
ment. " The university is usually responsible for obtaining patents and for licensing the rights for its
professors’ inventions. The company, having licensed the product, must provide the considerable finan-
cial backing required for its development and marketing.

In the best of all possible worlds, @ the inventors, the university administrators and the company ex-
ecutives work as a well-oiled machine that creates a beneficial product and generates capital to support the
academic lab, the scientist, the university and the company’s shareholders. In the real world, however,
each of these component parts has its own agenda. The goals may not entirely overlap.

When a university stands to gain financially from the commercialization® of one of its professors’ in-
ventions, for example, the professors may hesitate, out of conflict-of-interest issues, to participate in the

. 7 .
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trials of the new product. Such a policy causes friction and frustration in the relationship between the uni-
versity administration and the faculty members. Distrust can be heightened if the negotiations with compa-
nies are handled by an official who represents the university but not the interest of the faculty.

Universities themselves have faced the frustration of licensing their inventions to companies that have
then sublicensed them to other firms for enormous fees. Because these “fees” can be disguised by a vari-
ety of accounting procedures, there is no way for the university or the inventor to participate in the profits
of the sublicensing agreement. Thus, unless the invention hecomes a product, the profits made by the
company are not shared by the university or the inventor.

Meanwhile it is the company who writes the checks. Of the three parties involved, it compromises
the least. As a rule, the company shows more concern over new ideas and new products which can be
used to benefit itself and the public good as well.

So the scientist, the university and the industry find themselves on a three-way street where ideas
from the academic laboratory move into the realm of application. Because the use of this highway has in-
creased dramatically in recent years, traffic jams and collisions have been unavoidable. And, increasing-
ly, basic research is diverted from its path. Inevitably, such sidetracking will slow the movement of basic
science discoveries into technical products.

Preventing this slowdown requires some new rules of the road. Increased government funding for re-
search is necessary to restore order by redirecting lab efforts back toward basic research — the wellspring
of all applied technologies.

The scientist and the university must cease regarding companies as money-providers with deep pock-
ets'”) and leam from the business world how economic realities are integrated into idealistic goals. And
the company’s attitude that “the scientist has done the easy work” has to give way to adapting to a more
inclusive approach that permits participation by the scientist and the university in deciding on the best
road to development. Without these accommodations on all sides, ‘> the flow of ideas into products will be
slowed, and all parties, including society at large, will suffer from the gridlock. ®)

41. The main concem of the author is
[A] the role of the university and the industry in developing scientific knowledge in the academic en-
vironment
[B] the problems in the collaboration among scientists, universities and companies
(C] the relationship between university and industry
[D] the way a university gets more financial support from the industry for new products’ development
and marketing
42. What do the universities worry about before the invention becomes a product?
[A] They cannot share the profits if the company sublicenses the invention to another firm.
[B] They cannot find financial backing required for its development and marketing.
[C] They are not certain whether the product would be beneficial to themselves and the public as

well.



